SHSFEE Al FEKBHRERE 1/3
No. sl A% EEE [ ECGIEETS HIEL EEBHIZ  BRT R | UE stEeke sEgys meess BEEKE BE RS =

Tml R EF| K- @mK B [BRER 0.00~ 0.20 0.20] 0.10] 3.04] 4.54] 4.28 EE  |alm
27BN EE EE #K - &K A EBER 0.20~ 0.40 0.20 0.30/ 3.16/ 4.66 4.32 = Al
3 EEN EE EE #K - &K B EBER 0.40~ 1.95 1.55) 1.18 4.04| 5.54 5.92 = Al
4 ;& BN EE EE #K - &K B EBER 2.20~ 2.60 0.400 2.40 541 6. 91 1.31 = ORI T
51BN EE EE #K - &K B FERER 7.20~ 7.40 0.20] 7.30 11.89 13.39 13.79 =R Al T
6 &N EE EE #K - &K A [F0ENB 19.40 ~ 19.70 0.30] 19.55 40.39 41.89 41.42 = BRI
7 &EBEN EE EE #K - &K CIRE 2] 20.00 ~ 20. 60 0.60] 20.30 42.58 44.08 44.49 = ORI
8 BN EE EE #K - &K A F0ENi3 20.60 ~ 21.00 0.40| 20.80 43.99 45.49 45.52 = ORI T
9 F&BN B EiF| HK &K B #0FIE 21.20 ~ 21.60 0.40 21.40, 45.68 47.18] — =g #GITH
10 &N B EiF| HK-RK A F0EIE 21.60 ~ 21.77 0.17 21.69 46.20 47.70, — =g #GITH
11 3&EN B EiF| HK-RK B #0EIE 21.80 ~ 22.40 0.60 22.10, 47.20 48.70, — =g #GIH
12 &N B EiF| HK &K A F0EIE 22.40 ~ 23.20 0.80 22.80 49.08 50.58] — =g BT
13 &N B EiF| HK &K B | #0EIE 23.20 ~ 24.40 1.20) 23.80 51.68 53.18 — =g BT
148N EE AE | K- @K B #EBER 0.20~ 1.80 1.600 1.000 4.04| 5.54 578 = BRI
1588 EE AE | HK - &K B #EBER 2.20~ 2.40 0.200 2.30 5.17 6.67 6.91 = ORI T
16] ;&8N EE AE | K- &K B #EBER 5.40 ~ 6.00 0.60] 5.70/ 9.75 11.25 11.92 =R Al T
17880 EE AE | K- &K B #EBER 6.20 ~ 6.60 0.40| 6.40 10.61 12.11 12.86 = ORI
18]:& 8N EE AE | K- &K B #EBER 6.80 ~ 6.99 0.19] 6.90 11.24 12.74 13.36 =R ORI T
19880 EE AE | K- &K B TREBAR 7.20~ 7.80 0.60/ 7.50 12.15 13.65 14.00 =R Al T
20 B EE AE | K- @K B TREBAR 8.20~ 8.40 0.20] 8.30 13.66/ 15.16 15.62 = BRI
21 & B EE AE | HK - @K B wHEBAR 14.40 ~ 14.60 0.20| 14.50 27.15 28.65 28.98 = Al
22 #EBI EE AE | K- &K B wHERAR 14.80 ~ 15.00 0.20] 14.90 28.10 29.60 30.14 = ORI T
VIR EE AE | K- &K B wHEBRAR 16.00 ~ 16.20 0.20/ 16.10 31.12 32.62 32.91 =R Al T
24 & B EE AE | HK - @K B LEBAER 19.40 ~ 19.70 0.30] 19.55 40.39 41.89 42.28 = BRI
25 & B EE AE | HK - @K B LtEBAER 19.80 ~ 20.60 0.80] 20.20 42.58 44.08 43.88 = BRI T
26 #E B EE AE | K- &K A LEBER 20.60 ~ 21.77 1.17 21.19 44.54| 46.04 — =R Al T
27 #F® EE AE | K- &K A LEBER 21.80 ~ 22.00 0.20] 21.90 46.71 48.21 - = BRI
28 & B EE AE | K- &K B LEBER 22.00 ~ 22.40 0.40| 22.20 47.60 49.10 — = ORI
29 & B EE AE | K- &K A LEBAR 22.40 ~ 22.60 0.20] 22.50 48.27 49.771 — =R ORI T
30 & B EE AE | K- &K B LtEBAER 22.60 ~ 22.80 0.20] 22.70 48.72| 50.22 — =R Al T
31 & B EE AE | K- &K B LEBAER 23.40 ~ 23.60 0.20| 23.50 50.64 52.14 — = BRI
32 & B B AiE | K- RK A LEBEE 24.20 ~ 24.40 0.20/ 24.30 52.56 54.06 — =R Al T

BEEA iR 5 &rr 1.87 km

= 4 &R 1.77 km

- [E03i0 km

BEEB y.= 8 &FT 5.15 km

ai=E 15 #FF 6.29 km

— [E03il km
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No. )l A% EEE FEdA EAXM FEE HIEL EEBHIZ  BERT R | UE stEeke sEmys meess BEEKE BE | HEAA E=
KRGS R Er| RAmK B | BRER 1.00~ 1.200  ]0.20] 1.10, 4.04 554 592 mE el
34EBI gl kR EHEREK B EBER 3.00~ 3.01 0.01 3.01 6.23 7.73 12.11 EE |(RRlm
35#BII gl AE BEIERK B EBER 500~ 5.20 0.20 5.10 8.99 10.49 11.41 EE|(BRIE
36/ #:BII pill] AR EERK B EBER 6.00~ 6.20 0.20 6.10 10.10 11.60 12.61 EE O |BRlW
31EBN gl AR EEREK B EBER 6.40 ~ 6.60 0.20 6.50 10.61 12.11 12.86 EE|(BRm
38FEBII gl AE BEIERK B EBER 7.00 ~ 7.20 0.20 7.10 11.55 13.05 13.85 EE O |(BRlm
39EBI gl AR BEEREK B THEBAR 8.00~ 8.20 0.20 8.10 13.17 14.67 15.13 EE|(BRIE
4038 pill] AR EEREK B THEBAR 9.00~ 9.20 0.20 9.10 15.06 16.56 17.27 EE O |BRlW
MEBN gl aF | BIERK B THEBAR 10.00 ~ 10,40 0.40 10.20 17.43 18.93| 19.38 EE|(BRm
42 %8I eniall] A5 BEEREK B HiEBARE 11.00 ~ 11.20 0.20 11.10 19.16 20.66/ 20.98 EE(gRIE
FEEA EF 0 &Ffr 0.00 km
aF 0 &Fr 0.00 km
- [E03i0 km
EEEB EF 2 &RT 0.21 km
aF 8 BFT 1.80 km
— El3il km
I3EEN R Br | K& - im A FBBAR 7.20 ~ 7.40 0.20] 7.30 11.89 13.39] 13.79 B oAl
4458 pill] aF | KE - kIR B HEBARE 11.40 ~ 11.60 0.20 11.50 20.17 21.67  21.98 EE | BRlH
45 %8I gl aF | KE - kIR B HEBAR 14.20 ~ 14.40 0.20 14.30 26.54 28.04 28.25 EE|(BRm
4638 gl aF | KE - kIR B HEBAR 14.60 ~ 14.80 0.20 14.70 27.59 29.09| 29.80 EE O |(BRlm
478N gl AF | KE - kIR B HEBAR 15.80 ~ 16.00 0.20 15.90 30.62 32.12 32.53 EE|(BRIE
48 &8I eniall] aiF | KiE - KR B LEBHRE 17.20 ~ 17.40 0.20 17.30 34.15 35.65 36.39 EE (gAH
FEEA EF 0 &Fr 0.00 km
aF 1 &/ 0.20 km
- [E03i0 km
EEEB EF 0 &Ffr 0.00 km
aF 5 &FT 1.00 km
— [E03il km
19 B ] = 7] B |ZAmE 195 i T.05 4.87] 6.3/ 6.48 BB moalm XEREHE T
50 & N - IEY B |FFEHB 6.99 1 6.99] 11.53] 13.03] 13.17 =g | BAITh NERIES S TS
51 &N &R - I B |iE=E 19.70 1 19.70] 41.24] 42.74] 43.73 =mEE Wl XEREHESH T
52 FEEN ERE - I B #FaEesE 21.77 1 21.77] 46.63 48.13] 49.81 =E WAl XERE ST e
EZEA 0 &R
aF 0 &P
- 0 &P
EEEB EF 0 &P
aF 0 &P
— 4 &
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) )l ANIE KRR FEdAl EAXM BEE HIEL EEBHIZ  BERT R | UE stEeke sEmys meess BEEKE BE | HEAA E=
] 3] | BIg | Eie B RER 100~ 1.20] | 0.20] 1.10] 4.04] 5.54 5.92 EE el
bl EEN EE 18113 EXEEBRER 1.40~ 1.80 0.40/ 1.60 4.55 6.05 6.24 =8 BT
EEN BN EE 18118 EXEEBRER 3.20~ 4.00 0.80/ 3.60 7.02 8.52| 9.71 =8 BAIT
EEN EEN P 18113 EEE A 18.20 ~ 19.40 1.20) 18.80 38.51 40.01| 40.51 =8 | BRIW
EEN AN BE 18118 EXEEBRER 0.20~ 1.00 0.80/ 0.60 3.55 5.05 5.50 =8 BT
bl EEN BE 18113 EXEEBEAER 2.40 ~ 3.01 0.61 2.71] 5.68 7.18 8.25 =8 BT
bl BN BE 18118 EXEEBAER 3.20~ 3.80 0.60 3.50 6.73 8.23 9.42 =8 | BAW
EEN EEN BE 18113 EXEEBRER 420~ 4.80 0.60 4.50 8.02 9.52| 10.74 =8 | BRIW
EEN AN BE 18118 IR EREE 6.20 ~ 6.99 0.79] 6.60 10.93 12.43 13.22/HA. 9K =8 |#AIT™H
EEN BN BE 18118 EXEEBER 7.00 ~ 7.20 0.20 7.10/ 11.55 13.05 13.85 =8 BAIT
EEN EEN BE 18113 EXE THEBEAR 7.20 ~ 7.60 0.40/ 7.40 12.15 13.65 14.00 =8 | BW
EEN AN BE 18118 EXE THEBER 8.00 ~ 10.40 2.40/ 9.20 15.52 17.02| 17.64 =8 BT
bl BN BE 18113 EXE hEBER 10.40 ~ 11.40 1.00] 10.90 18.80 20.30| 20.61 =8 | BW
EEN BN BE 18118 EXE hERAR 12.00 ~ 13.40 1.40 12.70 23.16 24.66| 24.87 =8 BT
EEN EEN BE 18113 EXE hEREAR 14.00 ~ 15.20 1.20] 14.60 27.59 29.09| 29.80 =8 | BRIW
EEN AN BE 18118 EXEhEREAR 15.40 ~ 16. 40 1.00] 15.90 30.62 32.12| 32.53 =8 BT
bl BN BE 18118 EIE LERER 16.40 ~ 17.20 0.80] 16.80 33.30 34.80 35.64 =8 BAIT
EEN EEN BE 18118 EIE LERBER 18.00 ~ 19.00 1.00) 18.50 37.28 38.78| 39.33 =8 BT
EEI I BE 18)11E EIE LERER 19.20 ~ 19.40 0.20 19.30 39.80 41.30/ 41.80 =8 BT
EIERM kR 4 &R 2.60 km
= 15 &/ 13.00 km
— [E03il km
el R EF| EAXm ERER 140~ 1.80 0.40] 1.60] 4.55 6.05 6.24 B ol BREF (1.60) 220
bl R £ EARME FERER 7.00 ~ 7.40 0.40 7.20 11.89 13.39 13.79 =8 BT BREM (1.20) £&C
EBN EE |l ERARXME - 13.00 ~ 13.60 0.60 13.30, 24.19 25.69] — =g BT BIRER (13.40) £#8¢
Rl Rl B EARM FEIT 18.00 ~ 18.40 0.40 18.20 36.81 38.31 38.62 =8 BT BIREF (18.20) 28T
3l Rl EE EARM #0352 19.40 ~ 19.70 0.30 19.55 40.39 41.89 41.42 =8 BT BIRER (19.60) 28T
BN EE |l ERARXME a3 21.40 ~ 21.77 0.37 21.59 45.68 47.18] — =g #GITH BIRER (21.60) £&8%
BN EE B ERARXM EBRARF 3.80 ~ 4.20 0.40 4.00 7.51 9.01 9.96 =8 flTh BIRER (4.00) 288
BN EE AF| EREM LEBER 19.40 ~ 19.70 0.30 19.55| 40.39 41.89 42.28 =8 flh BIRER (19.60) £&%
el EE fAF| EREXME LtEBER 20.80 ~ 21.20 0.40 21.00/ 44.54 46.04 — =g #UIH BIRER (21.00) 288
BARKM kR 6 BT 2.47 km
= 3 AT 1.10 km
— [El3il km




